Precalc13.3

Find the probability of an event
Find the odds for success and failure of an
event
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If an event can succeed in s ways and fail in f ways, then the probability of
success P(s) and the probability of failure P(f) are as follows.
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The odds of the successful outcome of an event is the ratio of the
probability of its success to the probability of its failure.
P(s)

Odds = m

Odds ...

Compare to powerball ticket



Is it probability or odds?
Make sure you answer the right question.
Always start with probability.

(ifit's an odds question, you need itanyway...)
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Twelve male and 16 female students have been selected as equal qualifiers
i for 6 college scholarships. If the awarded recipients are to be chosen at
i random, what are the odds that 3 will be male and 3 will be female?
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